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~ Suppose you and I each have a box of 600 marbles. In my box, 4 of the marbles are black,
while 3 of your marbles are black. We each draw 300 marbles with replacement from our own
boxes. Approximately, what is the chance you and I draw the same number of black marbles?
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The binomial (1000, 1/1000) distribution.

Now take 1000 random draws with replacement from a box with 1 black ball and
999 white ones. This is the dlsmhun(m of the number of black balls drawn:

n=1000 p = 0.001




stat 134 concept test

Southwest overbooks its flights, knowing some people will not show up. Suppose
for a plane that seats 350 people, 360 tickets are sold. Based on previous
data the airline claims that each passenger has a 90% chance of showing up.
Approximately, what is the chance that at least one empty seat remains?

(There are no assigned seats)
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we to apply the compliment rule

we want the area to the left of 350 (not including 350 itself, since we
want at least one open seat). the formula in (b) thus gives us P(X <
350).
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